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1. ABJT used in a CE amplifier and biased at 2mA is specified to have fr = 2GHz , C, = 1pF, r, = 100(2,
and 5=100. The voltage source output resistance is neglected.

(a) If the midband gain obtained is -10V/V, what is the value of fy ? (10%)

(b) If the midband gain is reduced to -1 V/V (by changing R/, where R| is the equivalent load
resistance ), what value of fy is obtained? (10%)

2. For the circuit of Fig. 1, use the feedback method to find the voltage gain V,/V,, the input resistance

R.,, and the output resistance R, . The op amp has open-loop gain «=10*V/V, R, =100kQ,

and r, =1kQ. (10%,10%)

3. Explain the definitions of gain and phase margins with sketching the gain and phase Bode plots.(10%)
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Fig. 1
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%3 f2$ (1) DRAM -~ (2) Virtual Ground ~ (3) Rectifier ~ (4) #&5 = &% - (20%)

5. .ﬁﬂ’,"“lﬁ]iﬁ”l‘ﬁ#ﬁRin‘%l VIR Rouw &2 TRH & & 1 5 © (30%)
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